(0 @) (rad)

1072

=
<

a(d cot(d))

105

10

Ratl

iy
TTTT T T
4

S 4e

=8
N

1

- -

=~ 1
1]
e
gN
=2
©
1071
RS 10% E
I F
o 1=
0.95F-
10"

o 3 [ :
= r b :
g & U 6 L A
0.95F S
ok
107 10 0 . 10°
TP, (PCA t% beamling
—=— DQM_V0001_R000000001__Global__mkFit_baseline
—— DQM_V0001_R000000001__Global__mkFit_BASELINE-2
=
5
=
<
o}
o)
=2
o]
o107 - dbbobduf | ......! T
2 :
@ C
1_— ------- --0-0-0----5 ------------
0.95L T = 5
10° 10 0, .
TPp, (PCA tlo beamline
~ 1
o :
-
o
o
=
)
2107F
T 1= T
@ r N
0.9k B
L 4 :
0.8~ i
10

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o

1



	Contents
	Page 1


